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Identify each of the following in the ﬁg‘ure,'
a. the center of the circle
cendte~ N

b. a diameter of the circle ———
jame irc - O M

0

c. three radii of the circle
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-~/ Show the formula you used and all your calculations. If a formula involves 7, first give an exact
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answer. Then, calculate an approximate answer using 3.14 for 7.

7. Compute the circumference of a circle with radius of length 17 inches.
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8. Compute the diameter of a circle with a circumference of 25 feet.

C= A

25 = 3.1 o
7% =d
9. Compute the area of a circle with radius of length 4.5 centimeters,
A= T er-r
SH o 45 e 45
= 63 5 é’ 5 cm*
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12. Marlene wants to enclose her circular vegetable garden with fencing to keep rabbits
from eating the vegetables. If the diameter of her garden is 14 feet, how much fencing

will she need to buy iffencing Is-sold by the linear foot? Find .@na}\ﬁ ( Circam¥, > C/
a'.—./; 78 C=dr “
r= 1 = lfe
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13. Justin wants to cover the top of a circular swimming pool to keep insects out of the pool. - ‘7"-/ ,C t
if the diameter of the pool is 20 feet, what will be the area of the top of the cover {the
portion of the cover that covers the surface of the pool)?
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circles fouch the Targe Circle.

17. Two small circles are drawn that touch each other, and both

2 LitHe crcle:

A = JT e I=re o
Ble ¢ 7
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- 6' 5 L?‘Lf =307 72
AL:'rne circle= T ~r.re Q/
3.4 e 77 Blég = 2 Li¥s

Which is closest to the area of the shaded region? ,53 &G bl 5, Yy — 86772

a. 615 square inches
b. 462 square inches
¢. 88 square inches

C *d. 308 square inches
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Arectangle is inscribed in a circle.

a. Calculate the exact area of the circle.
r=§5

31t e 585

=2026:7 iu*

b. Calculate the area of the rectangle.

18

/20 m*

c. Calculate the exact area of the shaded region. Then, calculate the approximate area
using 3.14 for .
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#eﬁéa/m;' portion of their backyard for a play space for their
rea of the largest portion of the yard that they can enclose

Wit 90 feet of fencmg.

¢

o~



